
 

C-VS-2400-INUT-1_INST_3-18 

 

INSTALL INSTRUCTIONS C-VS-2400-INUT-1 
2013-2019 FORD INTERCEPTOR UTILITY 

Fits Standard Interior and Optional Interior Upgrade (Code 65U) 
Vehicle Specific Console 

 24” inches of Equipment mounting space 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 ALWAYS! 

* Read all Instructions before installing any Havis, Inc. products. 
* Use Hardware included with install kit 

 

TOOLS REQUIRED: 
Phillips Screw Driver    Standard Socket set   T-20 Torx Bit          
Metric Socket set    Wire Cutters         Wire Crimping tool 
 
         
INSTALLATION PARTS AND MOUNTING HARDWARE: 
QTY  DESCRIPTION      PART# 
1 Main Console housing 
1 Front hump bracket (pre-attached to console housing) CM005141 
1 Rear mount bracket       CM004239 
1 Front Top trim panel      CM005105 
1 Driver side trim panel      CM004237 
1 Passenger side trim panel     CM004236 
4 12 volt socket       CM216560 
1 Wire and fuse for two (2) 12 volt sockets   CMC-E2  
1 Adaptor Plate for OEM Aux panel    CM005898 
1 Rear adaptor        CM006701 
2 7/8” hole plug       CM86430 
10 #8 x 3/8 PHSMS Torx head screws    CM86508 
4 Blue spade connector       GSM20224 
8 1/4” Hex flange nut      GSM30023 
2          Speed nut GSM30199 
12        1/4” Flat washer  GSM31005 
1 “O” ring       GSM31331 
1 1.875” (1- 7/8”) diameter O-Ring    GSM31335 
6          1/4” x 3/4" Hex head bolt GSM33001 
4          1/4” x 1" Hex head bolt GSM33002 
4          #8 x 1/4 PFHMS (screws for Aux panel & rear adaptor) GSM33178 
2          6mm x 20mm HHCS GSM33711 
2         #10 x 3/4´PPHSMS-SS GSM34170 
2         5/8”OD x 1/4"ID x 7/16” long spacer GSM34602 
 



 

C-VS-2400-INUT-1_INST_3-18 

C-VS-2400-INUT-1 
(Assembly) 

 
  

NOTE: The console is not long enough to connect to the optional OEM rear wire 
conduit without a rear adaptor. However there is a knockout for the optional OEM 
conduit located in the console end panel. 
Consoles manufactured after 11/1/14 have a revised end panel (CM005876) and include a 
rear adaptor (CM006701) for connecting to the optional OEM wire conduit.  
This adaptor is not used if the vehicle does not have the conduit option. 

Main Console Housing 

Front hump bracket 
CM005141 

Driver side trim panel 
CM004237 

Passenger side trim panel 
CM004236 

12 volt sockets 
CM216560 with  
CMC-E2 wire and fuse 

Rear mount bracket 
CM004239  
(not shown) 

Front Top trim panel 
CM005105 

Adaptor plate for 2014 and newer Ford Retail Explorer and  
Interceptor Utility with 65U interior upgrade 
Adapts the smaller (2014) OEM aux input panel to fit console forward plate. Adaptor 
plate with “O” ring and mount screws included with consoles MFG after 9/1/13. 
Retrofit / Adaptor kit can be purchased separately if needed. Part # CM005919 
CM005919 kit includes – 1 – CM005898, 1 - GSM31335 and 2 - GSM33178 

Rear adaptor bracket 
CM006701 



 

C-VS-2400-INUT-1_INST_3-18 

Front hump bracket CM005141 
 

Carefully place and bolt front hump bracket 
to floor with previously removed OEM floor 
bolts. Wire harnesses go on top of bracket. 
Note: Rubber mat will need to be cut first. 

View of center console included with OEM 
Interior upgrade 65U. 

 

Remove OEM tunnel plate and lower dash 
trim included with Standard Interceptor 
Utility or center console included with 

Optional Interior upgrade. 
S h d

Mount sensor inside console as desired. 
(for 2013 -2015 vehicles only) 

Remove sensor from back of center lower dash trim. 
 

Note: This sensor is not located on this trim panel on 
2016 vehicles. Relocation is not required. 

Front of 
vehicle



 

C-VS-2400-INUT-1_INST_3-18 

Attach top forward panel to console with 
8 x 3/8” Torx screws.  

Install 12 volt sockets and wiring. 

Remove side trim panel and place supplied 
speed nut onto drilled location. This provides 

a sturdy mount for trim panel screw.  
(follow same procedure on both sides) 

Temporarily attach side trim to console with 
8 x 3/8” Torx screws and drill 1/8” hole into 

plastic dash panel located behind forward hole. 
 

Place console housing between seats and attach sides 
to floor brackets with 1/4” x 3/4" Hex bolts and flat 

washers. (three each side) 

Sensor can be mounted on the underside of the rear 
mount bracket for the Interior upgrade 65U. 

 
Harness may not be long enough for standard Utility. 

Attach rear bracket to existing OEM 
mounting flanges with 6mm x 20mm hex 

bolts. 
 

Front of 
vehicle



 

C-VS-2400-INUT-1_INST_3-18 

 

Attach side trim panel to console housing with two (2) 8 x 
3/8” Torx screws and one (1) #10 x 3/4´sheet metal screw 
to lower dash. Install driver side filler panel the same way 

as the passenger side. 

Snap in OEM Aux panel  
Note: This panel is reused from the OEM 

dash section previously removed. 

Run wiring and install control heads and 
accessories. 

C-VS-2400-INUT with C-CUP2-I  
and C-AP-0645-L. 

If vehicle includes optional OEM conduit, remove the 
rear knockout and attach the supplied rear adaptor to 

rear end of console with 8-18x1/4 PFHMS. Bolt 
adaptor to conduit with OEM conduit hardware. 

Basic installation complete 
 


